
5.
Ver

Since CE is large,

Vo
VE ac, groundbasic
CE stage in/UtestAC analysis.

" Vo= Viest kx(-gmBc)=gee

Loop gain--est

R I I !

(a) Set T(jw)=-1 using K from the question.

ImRcRC-=- 1

(jwRC3 + 6liwRC) 2 + 5iwRC+ 1

Cross-multipy & simplify j2 =-1.

-j9mRcw3R (3 = -) - jwRC-6w2Rt(2 +5jwRC+)
=jW3 R3 3 + 6w2R/2 - 5jWRC-1.

Take real parts.
0 =6w2R22 - 1

wr,ie: fosteri



(b) Take imag. parts from the equation above.

- 9mcwYR3c3 =wYRYC - 5wRC

0 =(1 +gmRc) w3R3C3 - 5wRC

subst w= RC
0
=(1 +gmRc)(x) -5(c)
=19mR) -
=

1 +9mRc - 30

Im Rc =29.

" Min gm is 29
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